Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIESZAT AlER BIERFZI P
HRMNS50cm | HRHANASTmM

A EIE15 0.050 0.039 281780 9:12 (=5
BN TR =555

1 = .

g 0.061 0.050 28178 9:05 3

A P9 /&3 0.044 0.039 28178 10:53 s
BE/DNER

2 RBE 0.034 0.032 28178 10:57 i3

A |RERE FAE5D 0.039 0.030 28178 | 1104 s
HBOEHEZEY

3 | maE~) BERE 0.037 0.035 28178 | 1108 =

A P9 /&3 0.034 0.035 2A17H 11:15 s
BHES RS HE

4 B3 0.038 0.032 28178 11:19 =3

A AL 0.042 0.037 281780 11:35 =5
BEAREE

S JEaPuall:h 0.043 0.034 2817H 11:29 i

1/8




Al

BHERBHHRE

FRAEEANS—F 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM

B EIE15 0.052 0.038 2818H 9:13 =
EAT&RT -

1 EZAYLY i 2

e, 0.056 0.049 2H18H 9:06 2

B P9 /&3 0.046 0.029 2818H 11:31
EAPER

2 WEE 0.044 0.041 2A188 11:26

B |mrmaza—5— 535 0.042 0.035 2R18H 11:15
o h—

3 JE3 Bl 0.039 0.032 2A18H 11:10

B P9 /&3 0.036 0.035 2818H 10:38 £
[pdz:llcar oy

4 WEE 0.047 0.038 2A188 10:43 2

B P9 /&3 0.033 0.030 2818H 10:58
AR/

S REE 0.026 0.029 2A188 10:53 =

2/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIESZAT AlER BIERFZI Kz
HRMNS50cm | HRHANASTmM
o} EIE15 0.048 0.048 2H20H 9:12 £
BN TR =555
1 — . =
e 0.053 0.061 28208 9:05 2
o] P& 0.034 0.033 28208 10:43 s
BHE B INER
2 RBE 0.041 0.037 28208 10:49 i3
250 . : &
o] B E{’,a.ﬁé# nH P& 0.044 0.032 2A20H 11:04 iF5
CELEH
3 Bl 0.037 0.031 2H20H 10:59 B
C P9 &30 0.044 0.041 2A208 11:12 s
HRIEGE /NER
4 RBE 0.038 0.030 2A208 11:15 =3
=14 ) =
C lppabme Fa/E L 0.027 0.026 2H20H 11:30 rE
REE
5 |*F Bz 0.034 0.035 2H208 11:24 B
E] 3 . E3
C EHOTET P9 &8 0.034 0.037 2A20H 11:39 iF5
XEEA— .
6 ErE 15 0.034 0.029 28200 11:34 i

3/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BB BIE ISR AEA | Ak | XE
HFEHS50cm | HENSTmM

D EIE15 0.044 0.044 28218 9:20 1=
EATRE =57

] - _

g 0.056 0.056 2821H 9:13 &

p |[RABEREM | 0.043 0.035 2H218 10:58 s
XBEFHITTESD

2 Moy |EEE 0.037 0.037 28218 | 1101 %

D P9 /&3 0.033 0.034 2A21H 11:15 i3
REBE PP

3 RBE 0.035 0.029 28218 11:10 i

D P9 /&3 0.037 0.037 2A21H 11:26 i3
RAGE SHE

4 E = 0.042 0.040 28218 11:20 i

D AL 0.046 0.052 28218 11:29 =
RAGEAREE

S JEaPuall:h 0.044 0.035 2821H 11:34 i

4/8




EATZERBGRERRNTEEBANI—F 1 [ZKRF] B (u Sv/h)
. o SBIE {8 T (A FRAE)
No. BIEISFR BIEISFR BER | AERE | XE
#hRMS50cm | HEBEMNASTmM

E ErE15 0.051 0.043 2A25H 9:22 £
EQTERT v

1 - : =

g 0.065 0.049 2A 250 9:15 .

E F /&2 0.040 0.047 2A25R 9:45 £
EVHHE

2 ) 0.040 0.037 2A250 9:32 £

E P93 0.035 0.044 2H25H 9:48 £
EBRER

3 B RE 0.034 0.029 28258 9:38 =

E P93 0.044 0.035 2H25H 10:02 £
AR

4 % 0.047 0.043 2H258 9:56 o

E B 3L 0.050 0.042 2A 258 10:19 o)
EXFRAKREE

S FE 5D 4813 0.050 0.037 2A 250 10:13 £

5/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BAIE SR RIS FR AEBR | BIERZ | XE
HFEHS50cm | HENSTmM
F EiE15 0.055 0.044 2H26H 9:14 £
EATRE =57
1 = . =
g 0.054 0.055 28268 9:07 )
B ) : 2
F J:#‘ﬁgk;‘ﬁﬁ# D% P9 /&3 0.040 0.030 2826H 10:22 =
CELE
2 B 0.031 0.029 28 26H 10:17 )
F P fE 2 0.056 0.034 28268 10:07 £
BAEZPER
3 RBE 0.052 0.043 28268 10:01 )
F P &2 0.036 0.036 28268 9:39 £
BT DTN
4 RBE 0.037 0.033 2H26H 9:34 )
F B0 0.038 0.041 2H26H 9:45 2
HITOFELREE
S JEaPuall:h 0.041 0.036 2H26H 9:51 )

6/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM

G EIE15 0.050 0.045 2H27H 9:17 g
EAT&RT v

1 = _

R R 0.052 0.051 2H27H 9:10 F

G P9 /&3 0.041 0.032 28278 9:51 £
BT EINER

2 WEE 0.036 0.041 2A278 9:45 2

G P& 0.033 0.035 28278 10:06 £
ETERBER

3 ERE 0.031 0.032 28278 10:00 2

G AL 0.040 0.040 2H27H 10:23 £
ETEARSEE

4 BD41;% 0.029 0.032 28278 10:17 )

G e /& 18 0.034 0.037 28278 9:27 F
VDEYEHHE

5 B3]z

1/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM

H EIE15 0.053 0.041 2H28H 9:13 =
EAT&RT v

1 - . =

R R 0.054 0.051 2H28H 9:05 =

H P9 /&3 0.028 0.030 2828H 9:37 g
HMECELE

2 ERE 0.038 0.031 2H28H 9:31 S

H P9 /&3 0.040 0.040 2828H 9:52 g
BE A DR

3 BREE 0.033 0.038 2F28H 9:46 o

H Fe /&3 0.035 0.034 2828H 10:16 £
BE& /IR

4 REE 0.033 0.030 2H288 10:21 =

H AL 0.043 0.043 2H28H 10:06 S
HEEAREE

S JESBuak:Up: 0.034 0.029 2A288 10:00 =

H P9 &8 0.040 0.029 2828H 10:32 £
[ETh it 5 #E

6 &=

8/8




